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9.Letz=f(xy,y-x) then&Jra_y:
10. Letf (X) =x*+3x,0 x o ,andlet gbetheinversefunction of f .
Then 9'(4) =
11. Solve the differential equation (t+ 2y) dy + (y + 3t%) dt =0

Giventhefunctionf (x) = x-2 +1

1. Isf continuous at X =2 why

2. Doesf have aderivativeat x =2 why (10%)

1. Find the extremevaluesof (X, y,w) =e‘+e’ +e —2e"—(x+Yy) (5%)

2. Find the extremevaluesof ~ f(x,y) = x* +2y? -2x +3 subject to the constraint
X*+y? 10 (10%)

p=+400—-Xx 0<x<400 p X
255 256
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convex guasi convex
VxeS and 0O<x<1,then
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